



Convergence to nonlinear diffusion waves for solutions of p -system with time-dependent damping



Haitong Li^a, Jingyu Li^a, Ming Mei^{b,c}, Kaijun Zhang^{a,*}

^a School of Mathematics and Statistics, Northeast Normal University, Changchun 130024, PR China

^b Department of Mathematics, Champlain College Saint-Lambert, Saint-Lambert, Quebec, J4P 3P2, Canada

^c Department of Mathematics and Statistics, McGill University, Montreal, Quebec, H3A 2K6, Canada

ARTICLE INFO

Article history:

Received 24 May 2017
Available online 19 July 2017
Submitted by D. Wang

Keywords:

Time-dependent damping
Nonlinear diffusion waves
Convergence rates
Time-weighted energy estimates

ABSTRACT

In this paper, we study the Cauchy problem for the hyperbolic p -system with time-gradually-degenerate damping term $-\frac{1}{(1+t)^\lambda}u$ for $0 \leq \lambda < 1$, and show that the damped p -system has a couple of global solutions uniquely, and such solutions tend time-asymptotically to the shifted nonlinear diffusion waves, which are the solutions of the corresponding nonlinear parabolic equation governed by the Darcy's law. We further derive the convergence rates when the initial perturbations are in L^2 . The approach adopted is the technical time-weighted energy method.

© 2017 Elsevier Inc. All rights reserved.

1. Introduction

In order to investigate how the weak dissipation affects the solutions to the damped wave equations, Wirth [39–41] first studied the linear wave equation with time-dependent damping

$$v_{tt} + b(t)v_t - \Delta v = 0,$$

and derived the standard $L^p - L^q$ estimates for the solutions, where the damping coefficient $b(t)$ is time-gradually vanishing, for example, $b(t) = (1+t)^{-\lambda}$ with $\lambda > 0$. Later then, Nishihara and his collaborators [18, 27,31] intensively studied the global existence or blow up of the solutions to the time-dependently damped wave equations with nonlinear source

$$v_{tt} + b(t)v_t - \Delta v + |v|^{\rho-1}v = 0,$$

see also some recent developments [4,28,37] and the references cited therein.

* Corresponding author.

E-mail addresses: liht324@nenu.edu.cn (H. Li), lijy645@nenu.edu.cn (J. Li), ming.mei@mcgill.ca (M. Mei), zhangkj201@nenu.edu.cn (K. Zhang).

Instead of nonlinear source term, the other typical models are the visco-elasticity dynamics or the porous media flow with nonlinear diffusion

$$v_{tt} + b(t)v_t - \Delta\sigma(v) = 0, \quad \text{or} \quad v_{tt} + b(t)v_t + \Delta p(v) = 0,$$

with $\sigma'(v) > 0$ or $p'(v) < 0$. Here, $\sigma(v)$ is the stress function for visco-elastic material, and $p(v)$ is the pressure function for porous media flow. If we set $u_x = v_t$ for the above 1-d equation, then we derive the following damped p -system

$$\begin{cases} v_t - u_x = 0, \\ u_t + p(v)_x = -b(t)u. \end{cases}$$

In this paper, we are interested in the following Cauchy problem for the p -system of hyperbolic conservation laws with time-gradually-degenerate damping

$$\begin{cases} v_t - u_x = 0, \\ u_t + p(v)_x = -\frac{1}{(1+t)^\lambda}u, \end{cases} \quad (x, t) \in \mathbb{R} \times \mathbb{R}_+. \tag{1.1}$$

Physically, system (1.1) models a compressible flow through porous media in Lagrangian coordinates, where, $v > 0$ is the specific volume, u is the velocity, and the pressure $p(v)$ is a smooth function of v with $p(v) > 0$ and $p'(v) < 0$. A typical example is the polytropic gas, where $p(v) = v^{-\gamma}$ with $\gamma \geq 1$. The damping term $\frac{1}{(1+t)^\lambda}u$ represents the time-gradually-vanishing friction effect. Here and hereafter, we assume that $0 \leq \lambda < 1$.

Subjected to (1.1), the initial value is proposed as

$$(v, u)(x, 0) = (v_0, u_0)(x) \rightarrow (v_\pm, u_\pm) \quad \text{as } x \rightarrow \pm\infty, \tag{1.2}$$

where $v_\pm > 0$ and u_\pm are the constant states.

From Darcy’s law, the asymptotic profiles of the solutions to system (1.1)–(1.2) are expected to be the solutions of the following nonlinear diffusion equations with time-dependent damping:

$$\begin{cases} \bar{v}_t - \bar{u}_x = 0, \\ p(\bar{v})_x = -\frac{1}{(1+t)^\lambda}\bar{u}, \end{cases} \quad (x, t) \in \mathbb{R} \times \mathbb{R}_+, \quad 0 \leq \lambda < 1, \tag{1.3}$$

or

$$\begin{cases} \bar{v}_t = -(1+t)^\lambda p(\bar{v})_{xx}, \\ p(\bar{v})_x = -\frac{1}{(1+t)^\lambda}\bar{u}, \end{cases} \quad (x, t) \in \mathbb{R} \times \mathbb{R}_+, \quad 0 \leq \lambda < 1, \tag{1.4}$$

with

$$(\bar{v}, \bar{u})(x, t) \rightarrow (v_\pm, 0) \quad \text{as } x \rightarrow \pm\infty. \tag{1.5}$$

This system possesses some self-similar solutions in the form of

$$(\bar{v}, \bar{u})(x, t) = (\bar{v}, \bar{u})\left(\frac{x}{\sqrt{(1+t)^{1+\lambda}}}\right),$$

which are usually called nonlinear diffusion waves. When $\lambda = 0$, C.T. van Duyn and L.A. Peletier [3] first showed the existence of the self-similar solutions in the form of $(\bar{v}, \bar{u})\left(\frac{x}{\sqrt{1+t}}\right)$.

The p -system without time-dependent damping (i.e., the case of $\lambda = 0$) has been drawn a lot of attention:

$$\begin{cases} v_t - u_x = 0, \\ u_t + p(v)_x = -\alpha u, \end{cases} \quad (x, t) \in \mathbb{R} \times \mathbb{R}_+, \tag{1.6}$$

where $\alpha > 0$ is the damping constant. In their pioneering work, Hsiao and Liu [9] first proved that the solutions (v, u) of (1.6) converge to the diffusion waves (\bar{v}, \bar{u}) of the system

$$\begin{cases} \bar{v}_t = -\frac{1}{\alpha} p(\bar{v})_{xx}, \\ p(\bar{v})_x = -\alpha \bar{u}, \end{cases}$$

in the sense $\|(v - \bar{v}, u - \bar{u})(t)\|_{L^\infty} = O(1)(t^{-\frac{1}{2}}, t^{-\frac{1}{2}})$. Then Nishihara [24] significantly improved the convergence rates as $\|(v - \bar{v}, u - \bar{u})(t)\|_{L^\infty} = O(1)(t^{-\frac{3}{4}}, t^{-\frac{5}{4}})$ for the initial perturbations in L^2 -sense. Subsequently, Nishihara, Wang and Yang [29], Wang and Yang [38] further improved the rates as $\|(v - \bar{v}, u - \bar{u})(t)\|_{L^\infty} = O(1)(t^{-1}, t^{-\frac{3}{2}})$ by constructing an approximate Green function for the initial perturbations in L^1 -sense. Furthermore, Mei [23] observed that the best asymptotic profiles are the solutions for the corresponding nonlinear diffusion equation with some particularly selected initial data, and showed that the convergence to the best asymptotic profile is in the form of $\|(v - \bar{v}, u - \bar{u})(t)\|_{L^\infty} = O(1)((1+t)^{-\frac{3}{2}} \log(2+t), (1+t)^{-2} \log(2+t))$, when the initial perturbations are in L^1 . The new rates are much better than the existing convergence rates to the diffusion waves, which was further improved to $\|(v - \bar{v}, u - \bar{u})(t)\|_{L^\infty} = O(1)((1+t)^{-\frac{3}{2}}, (1+t)^{-2})$ by Geng and Wang [5]. For other results related to (1.6) with nonlinear damping or vacuum or bounded domain, and so on, we refer to these interesting works [1,2,6,10–17,19,20,22,25,26,30,42–47] and the references therein.

Regarding the time-dependent damping to the p -system, the following 1-d isentropic Euler equations have been paid more attention in recent years:

$$\begin{cases} \partial_t \rho + \partial_x(\rho u) = 0, \\ \partial_t(\rho u) + \partial_x(\rho u^2) + \partial_x P(\rho) = -\frac{\mu}{(1+t)^\lambda} \rho u, \\ \rho|_{t=0} = 1 + \varepsilon \rho_0(x), \quad u|_{t=0} = \varepsilon u_0(x), \end{cases} \tag{1.7}$$

where $\rho_0(x), u_0(x) \in C_0^\infty(\mathbb{R})$, $|x| \leq R$ and $\varepsilon > 0$ is sufficiently small. Here $\rho(x)$ is the density, $u(x)$ denotes the fluid velocity, $P(\rho)$ stands for the pressure. $\lambda \geq 0, \mu \geq 0$ are two constants to describe the scale of the damping. Pan [34] showed that $\lambda = 1, \mu = 2$ are the critical values of (1.7), which separate the global existence and finite-time blow up of solutions. More precisely, when $\lambda = 1, \mu > 2$ or $0 \leq \lambda < 1, \mu > 0$, (1.7) has global smooth solutions; while, when $\lambda = 1, 0 \leq \mu \leq 2$ or $\lambda > 1, \mu \geq 0$, the C^1 solutions of (1.7) will blow up in finite time. The case dealt with $\lambda = 1, \mu > 2$ has been reported in [33], and the case of $\lambda = 1, 0 \leq \mu \leq 2$ is treated in [32]. Furthermore, Pan [34] gave a finite upper bound for the lifespan of classical solutions when $\lambda = 1, 0 \leq \mu \leq 2$ or $\lambda > 1, \mu \geq 0$. For more results about 2-d and 3-d Euler equations with time-dependent damping, we refer to [7,8,35,36].

Motivated by the above results, in the present paper, we study the case of $0 \leq \lambda < 1$ corresponding to (1.1). We shall prove the existence of global smooth solutions, and derive the convergence of the solutions (v, u) to the diffusion waves (\bar{v}, \bar{u}) , which are the solutions of the corresponding nonlinear parabolic equation given by the Darcy’s law. Here the diffusion waves have the form $(\bar{v}, \bar{u})(x/\sqrt{(1+t)^{1+\lambda}})$, which are different from the existing studies in the form of $(\bar{v}, \bar{u})(x/\sqrt{1+t})$, due to the gradual vanishing of the damping. See Section 2 for more details.

In order to see what of kind gaps between the original solutions and the target profiles (diffusion waves) at far fields is, let us make the following heuristic analysis. For a diffusion wave $(\bar{v}, \bar{u})(x + x_0, t)$ with some constant x_0 , which will be determined later, we first get from (1.1)₁ and (1.3)₁ that

$$(v - \bar{v})_t - (u - \bar{u})_x = 0. \tag{1.8}$$

Integrating (1.8) with respect to x over $(-\infty, +\infty)$, and noting (1.5), we have

$$\begin{aligned} \frac{d}{dt} \int_{-\infty}^{+\infty} [v(x, t) - \bar{v}(x + x_0, t)] dx &= [u(+\infty, t) - \bar{u}(+\infty, t)] - [u(-\infty, t) - \bar{u}(-\infty, t)] \\ &= u(+\infty, t) - u(-\infty, t). \end{aligned} \tag{1.9}$$

In order to overcome the difficulty caused by $u(+\infty, t) \neq u(-\infty, t)$, we need to construct a pair of correction functions $(\hat{v}, \hat{u})(x, t)$. As in [22], we define

$$\begin{cases} \hat{u}(x, t) = m(x)e^{\frac{1}{1-\lambda}[1-(1+t)^{1-\lambda}]}, \\ \hat{v}(x, t) = -m'(x) \int_t^{+\infty} e^{\frac{1}{1-\lambda}[1-(1+s)^{1-\lambda}]} ds, \end{cases}$$

where

$$m(x) = u_- + (u_+ - u_-) \int_{-\infty}^x m_0(y) dy.$$

Here $m_0(x) > 0$, $m_0(x) \in C_0^\infty(\mathbb{R})$ and $\int_{-\infty}^{+\infty} m_0(x) dx = 1$. Thus

$$\hat{v}(x, t) = (u_- - u_+) m_0(x) \int_t^{+\infty} e^{\frac{1}{1-\lambda}[1-(1+s)^{1-\lambda}]} ds, \tag{1.10}$$

and it holds that

$$\begin{cases} \hat{v}_t - \hat{u}_x = 0, \\ \hat{u}_t = -\frac{1}{(1+t)^\lambda} \hat{u}. \end{cases} \tag{1.11}$$

Therefore, by (1.1), (1.3) and (1.11), we have

$$\begin{cases} (v - \bar{v} - \hat{v})_t - (u - \bar{u} - \hat{u})_x = 0, \\ (u - \bar{u} - \hat{u})_t + [p(v) - p(\bar{v})]_x = -\left(\frac{u}{(1+t)^\lambda} - \frac{\bar{u}}{(1+t)^\lambda} - \frac{\hat{u}}{(1+t)^\lambda}\right) - \bar{u}_t, \end{cases} \tag{1.12}$$

where (\bar{v}, \bar{u}) is the shifted diffusion wave $(\bar{v}, \bar{u})(x + x_0, t)$.

Next, we are going to determine the shift x_0 . Integrating the first equation of (1.12) with respect to x over $(-\infty, +\infty)$, we obtain

$$\begin{aligned} \frac{d}{dt} \int_{-\infty}^{+\infty} [v(x, t) - \bar{v}(x + x_0, t) - \hat{v}(x, t)] dx \\ = [u(+\infty, t) - \bar{u}(+\infty, t) - \hat{u}(+\infty, t)] - [u(-\infty, t) - \bar{u}(-\infty, t) - \hat{u}(-\infty, t)] \\ = 0. \end{aligned} \tag{1.13}$$

Integrating (1.13) with respect to t , we have

$$\int_{-\infty}^{+\infty} [v(x, t) - \bar{v}(x + x_0, t) - \hat{v}(x, t)] dx = \int_{-\infty}^{+\infty} [v_0(x) - \bar{v}(x + x_0, 0) - \hat{v}(x, 0)] dx$$

$$\triangleq I(x_0).$$

Now, we determine x_0 such that $I(x_0) = 0$. Since

$$I'(x_0) = \frac{\partial}{\partial x_0} \left(\int_{-\infty}^{+\infty} [v_0(x) - \bar{v}(x + x_0, 0) - \hat{v}(x, 0)] dx \right)$$

$$= - \int_{-\infty}^{+\infty} \bar{v}'(x + x_0, 0) dx$$

$$= - [\bar{v}(+\infty, 0) - \bar{v}(-\infty, 0)]$$

$$= -(v_+ - v_-),$$

we get

$$I(x_0) - I(0) = \int_0^{x_0} I'(y) dy = -(v_+ - v_-)x_0,$$

with $I(x_0) = 0$, we further have

$$x_0 = \frac{1}{v_+ - v_-} I(0) = \frac{1}{v_+ - v_-} \int_{-\infty}^{+\infty} [v_0(x) - \bar{v}(x, 0) - \hat{v}(x, 0)] dx.$$

Define

$$\begin{cases} V(x, t) \triangleq \int_{-\infty}^x [v(y, t) - \bar{v}(y + x_0, t) - \hat{v}(y, t)] dy, \\ z(x, t) \triangleq u(x, t) - \bar{u}(x + x_0, t) - \hat{u}(x, t), \end{cases} \tag{1.14}$$

and

$$\begin{cases} V_0(x, t) \triangleq \int_{-\infty}^x [v_0(y) - \bar{v}(y + x_0, 0) - \hat{v}(y, 0)] dy, \\ z_0(x) \triangleq u_0(x) - \bar{u}(x + x_0, 0) - \hat{u}(x, 0). \end{cases} \tag{1.15}$$

Thus, (1.12) can be transformed into

$$\begin{cases} V_t - z = 0, \\ z_t + (p'(\bar{v})V_x)_x = -\frac{1}{(1+t)^\lambda} z + F - G_x, \\ (V, z)(x, 0) = (V_0, z_0)(x), \end{cases} \tag{1.16}$$

where

$$F \triangleq (1+t)^\lambda p(\bar{v})_{xt} + \lambda(1+t)^{\lambda-1} p(\bar{v})_x \quad \text{and} \quad G \triangleq p(V_x + \bar{v} + \hat{v}) - p(\bar{v}) - p'(\bar{v})V_x.$$

Notations. Throughout this paper, C denotes a generic positive constant which may change from one line to another. $H^m(\mathbb{R})$ ($m \geq 0$) is the usual Sobolev space whose norm is abbreviated as

$$\|f\|_m := \sum_{k=0}^m \|\partial_x^k f\| \quad \text{with } \|f\| := \|f\|_{L^2(\mathbb{R})}.$$

For convenience, we also write

$$\|(f, g)\|^2 := \|f\|^2 + \|g\|^2.$$

Our main result is as follows.

Theorem 1.1. *Suppose that both $\|V_0\|_3 + \|z_0\|_2$ and $\delta =: |v_+ - v_-| + |u_+ - u_-|$ are sufficiently small. Then, there exists a unique couple of time-global solutions $(V, z)(x, t)$ of (1.16), which satisfies*

$$V(x, t) \in C^k(0, \infty; H^{3-k}(\mathbb{R})), \quad k = 0, 1, 2, 3, \quad z(x, t) \in C^k(0, \infty; H^{2-k}(\mathbb{R})), \quad k = 0, 1, 2,$$

and

$$\begin{aligned} & \sum_{k=0}^3 (1+t)^{k+(k-3)\lambda} \|\partial_x^k V(\cdot, t)\|^2 + \sum_{k=0}^2 (1+t)^{2+k+(k-3)\lambda} \|\partial_x^k z(\cdot, t)\|^2 \\ & + \int_0^t \left[\sum_{k=0}^3 (1+s)^{k-1+(k-3)\lambda} \|\partial_x^k V(\cdot, t)\|^2 + \sum_{k=0}^2 (1+s)^{k+1+(k-3)\lambda} \|\partial_x^k z(\cdot, t)\|^2 \right] ds \\ & \leq C(\|V_0\|_3^2 + \|z_0\|_2^2 + \delta). \end{aligned}$$

By the Sobolev inequality

$$\|f\|_{L^\infty} \leq \sqrt{2} \|f\|^{\frac{1}{2}} \|f_x\|^{\frac{1}{2}},$$

we further derive the following estimates.

Corollary 1.1. *Under the previous hypotheses, one has*

$$\|V_x(\cdot, t)\|_{L^\infty} \leq C(1+t)^{-\frac{3(1-\lambda)}{4}}, \tag{1.17}$$

and

$$\|V_t(\cdot, t)\|_{L^\infty} \leq C(1+t)^{-\frac{5(1-\lambda)}{4}}. \tag{1.18}$$

In view of (1.14), (1.15) and (1.10), the estimates (1.17) and (1.18) with $0 \leq \lambda < 1$ imply the convergence of $(v, u)(x, t)$ to $(\bar{v}, \bar{u})(x + x_0, t)$, namely, we obtain the following corollary.

Corollary 1.2 *(Convergence to diffusion waves). Under the conditions in Theorem 1.1, the system (1.1), (1.2) possesses a unique couple of global solutions $(v, u)(x, t)$, which converges to its nonlinear diffusion wave $(\bar{v}, \bar{u})(x + x_0, t)$ in the form of*

$$\|(v - \bar{v})(\cdot, t)\|_{L^\infty} = O(1)(1+t)^{-\frac{3(1-\lambda)}{4}}, \tag{1.19}$$

$$\|(u - \bar{u})(\cdot, t)\|_{L^\infty} = O(1)(1+t)^{-\frac{5(1-\lambda)}{4}}. \tag{1.20}$$

Remark 1.1. If the initial perturbations are in L^1 , we first need to derive the optimal decays for the linear equations with time-gradually vanishing damping

$$v_{tt} + \frac{1}{(1+t)^\lambda} v_t - a(x,t)v_{xx} = 0, \quad a(x,t) > 0,$$

by the method of approximate Green function, then we show the optimal convergence of the original solutions $(v, u)(x, t)$ with time-dependent damping to the corresponding diffusion waves. This will be our next target in future.

2. Diffusion waves

In this section, we firstly state some fundamental properties of the nonlinear diffusion waves. Then we will consider the dissipative nature of the nonlinear diffusion waves.

Inspired by the classical works of van Duyn and Peletier [3], we confirm that the nonlinear diffusion equation

$$\bar{v}_t = -(1+t)^\lambda p(\bar{v})_{xx}, \quad p'(\bar{v}) < 0, \tag{2.1}$$

has a unique (up to a shift) monotone self-similar solution called nonlinear diffusion wave in the form

$$\bar{v}(x, t) = \varphi \left(\frac{x}{\sqrt{(1+t)^{\lambda+1}}} \right) \triangleq \varphi(\xi), \quad \xi \in \mathbb{R}, \tag{2.2}$$

with

$$\varphi(\pm\infty) = v_\pm.$$

Substituting (2.2) into (2.1), it follows that

$$\varphi''(\xi) + \frac{p''(\varphi(\xi))\varphi'(\xi) - \frac{\lambda+1}{2}\xi}{p'(\varphi(\xi))} \cdot \varphi'(\xi) = 0.$$

As in [9], it is easy to see that the self-similar solution $\varphi(\xi)$ satisfies

$$\sum_{k=1}^4 |\partial_\xi^k \varphi(\xi)| + |\varphi(\xi) - v_+|_{\xi>0} + |\varphi(\xi) - v_-|_{\xi<0} \leq C |v_+ - v_-| e^{-C(\lambda+1)\xi^2}, \tag{2.3}$$

for some constant $C > 0$. A direct calculation from (2.2) gives

$$\left\{ \begin{aligned} \bar{v}_x(x, t) &= \frac{\varphi'(\xi)}{\sqrt{(1+t)^{\lambda+1}}}, & \bar{v}_t(x, t) &= -\frac{(\lambda+1)\xi\varphi'(\xi)}{2(1+t)}, & \bar{v}_{xx}(x, t) &= \frac{\varphi''(\xi)}{(1+t)^{\lambda+1}}, \\ \bar{v}_{xt}(x, t) &= -\frac{(\lambda+1)[\varphi'(\xi)+\xi\varphi''(\xi)]}{2(1+t)\sqrt{(1+t)^{\lambda+1}}}, & \bar{v}_{tt}(x, t) &= \frac{(\lambda+1)(\lambda+3)\xi\varphi'(\xi)+(\lambda+1)^2\xi^2\varphi''(\xi)}{4(1+t)^2}, \\ \bar{v}_{xxx}(x, t) &= \frac{\varphi'''(\xi)}{(1+t)^{\lambda+1}\sqrt{(1+t)^{\lambda+1}}}, & \bar{v}_{xxt}(x, t) &= -\frac{(\lambda+1)[2\varphi''(\xi)+\xi\varphi'''(\xi)]}{2(1+t)^{\lambda+2}}, \\ \bar{v}_{xtt}(x, t) &= \frac{(\lambda+1)(\lambda+3)\varphi'(\xi)+(\lambda+1)(3\lambda+5)\xi\varphi''(\xi)+(\lambda+1)^2\xi^2\varphi'''(\xi)}{4(1+t)^2\sqrt{(1+t)^{\lambda+1}}}, \\ \bar{v}_{xxx}(x, t) &= -\frac{(\lambda+1)[3\varphi'''(\xi)+\xi\varphi^{(4)}(\xi)]}{2(1+t)^{\lambda+2}\sqrt{(1+t)^{\lambda+1}}}, \\ \bar{v}_{xxtt}(x, t) &= \frac{4(\lambda+1)(\lambda+2)\varphi''(\xi)+(\lambda+1)(5\lambda+7)\xi\varphi'''(\xi)+(\lambda+1)^2\xi^2\varphi^{(4)}(\xi)}{4(1+t)^{3+\lambda}}. \end{aligned} \right. \tag{2.4}$$

Thanks to (2.3) and (2.4), we have the following decay estimates for the diffusion waves.

Lemma 2.1. *Assume that $0 \leq \lambda < 1$, it holds that*

$$\begin{aligned} \int_{-\infty}^{+\infty} |\partial_x^k \bar{v}(x, t)|^2 dx &= O(1) |v_+ - v_-|^2 (1+t)^{-\frac{(2k-1)(\lambda+1)}{2}}, \quad k = 1, 2, 3, \\ \int_{-\infty}^{+\infty} |\partial_x^k \bar{v}_t(x, t)|^2 dx &= O(1) |v_+ - v_-|^2 (1+t)^{-\frac{(3-\lambda)+2k(\lambda+1)}{2}}, \quad k = 0, 1, 2, 3, \\ \int_{-\infty}^{+\infty} |\bar{v}_{tt}(x, t)|^2 dx &= O(1) |v_+ - v_-|^2 (1+t)^{-\frac{7-\lambda}{2}}, \\ \int_{-\infty}^{+\infty} |\bar{v}_{xtt}(x, t)|^2 dx &= O(1) |v_+ - v_-|^2 (1+t)^{-\frac{9+\lambda}{2}}, \\ \int_{-\infty}^{+\infty} |\bar{v}_{xxtt}(x, t)|^2 dx &= O(1) |v_+ - v_-|^2 (1+t)^{-\frac{11+3\lambda}{2}}. \end{aligned}$$

3. Proof of Theorem 1.1

By (1.16), we obtain

$$\begin{cases} V_{tt} + \frac{1}{(1+t)^\lambda} V_t + (p'(\bar{v})V_x)_x = F - G_x, & (x, t) \in \mathbb{R} \times \mathbb{R}_+, \\ (V, V_t)|_{t=0} = (V_0, z_0)(x), & x \in \mathbb{R}, \end{cases} \tag{3.1}$$

where

$$F = (1+t)^\lambda p(\bar{v})_{xt} + \lambda(1+t)^{\lambda-1} p(\bar{v})_x, \quad G = p(V_x + \bar{v} + \hat{v}) - p(\bar{v}) - p'(\bar{v})V_x.$$

As is well known, Theorem 1.1 can be proved by the classical continuation method based on the local existence and the a priori estimates. The local existence of the solution for (3.1) can be obtained by the iteration method which can be found in [21] for details. Next, we shall devote ourselves to establishing the a priori estimates for the solution by the time-weighted energy method. It is technical and will be the main effort in this section.

Let $T \in [0, \infty]$, we define

$$N(T)^2 := \sup_{0 \leq t \leq T} \left\{ \sum_{k=0}^3 (1+t)^{k+(k-3)\lambda} \|\partial_x^k V(\cdot, t)\|^2 + \sum_{k=0}^2 (1+t)^{2+k+(k-3)\lambda} \|\partial_x^k V_t(\cdot, t)\|^2 \right\}. \tag{3.2}$$

Lemma 3.1. *Assume that $N(T) + \delta \ll 1$, then*

$$\begin{aligned} &(1+t)^{-3\lambda} \|V(\cdot, t)\|^2 + (1+t)^{-\lambda} \|(V_x, V_t)(\cdot, t)\|^2 \\ &+ \int_0^t (1+s)^{-2\lambda} \|(V_x, V_t)(\cdot, s)\|^2 ds \leq C (\|V_0\|_1^2 + \|z_0\|^2 + \delta). \end{aligned} \tag{3.3}$$

Proof. Multiplying (3.1) by $2(1+t)^{-\lambda}V_t$, we get

$$\begin{aligned} & [(1+t)^{-\lambda}(V_t^2 - p'(\bar{v})V_x^2)]_t + [2(1+t)^{-2\lambda} + \lambda(1+t)^{-1-\lambda}]V_t^2 \\ & + [\lambda(1+t)^{-\lambda-1}|p'(\bar{v})| + (1+t)^{-\lambda}p''(\bar{v})\bar{v}_t]V_x^2 + 2((1+t)^{-\lambda}p'(\bar{v})V_xV_t)_x \\ & = 2(1+t)^{-\lambda}V_tF - 2(1+t)^{-\lambda}V_tG_x. \end{aligned} \tag{3.4}$$

In view of (2.3) and the second equality of (2.4), we have

$$(1+t)^{-\lambda}|p''(\bar{v})\bar{v}_t|V_x^2 \leq C\delta(1+t)^{-\lambda-1}V_x^2. \tag{3.5}$$

To estimate the right hand side of (3.4), we set

$$\begin{aligned} (1+t)^{-\lambda}V_tF & = p(\bar{v})_{xt}V_t + \lambda(1+t)^{-1}p(\bar{v})_xV_t \\ & \triangleq I_1 + I_2. \end{aligned} \tag{3.6}$$

By Young’s inequality and the second equality of (2.4),

$$\begin{aligned} I_1 & \leq \frac{1}{8}(1+t)^{-2\lambda}V_t^2 + 2(1+t)^{2\lambda}(p''(\bar{v})\bar{v}_x\bar{v}_t + p'(\bar{v})\bar{v}_{xt})^2 \\ & \leq \frac{1}{8}(1+t)^{-2\lambda}V_t^2 + C(1+t)^{2\lambda}(|\bar{v}_x\bar{v}_t|^2 + |\bar{v}_{xt}|^2) \\ & \leq \frac{1}{8}(1+t)^{-2\lambda}V_t^2 + C\delta(1+t)^{2\lambda-2}|\bar{v}_x|^2 + C(1+t)^{2\lambda}|\bar{v}_{xt}|^2. \end{aligned} \tag{3.7}$$

Analogous to (3.7),

$$I_2 = \lambda(1+t)^{-1}p'(\bar{v})\bar{v}_xV_t \leq \frac{1}{8}(1+t)^{-2\lambda}V_t^2 + C(1+t)^{2\lambda-2}|\bar{v}_x|^2. \tag{3.8}$$

The second term on the right hand side of (3.4) can be estimated as follows.

$$\begin{aligned} & - (1+t)^{-\lambda}V_tG_x \\ & = -(1+t)^{-\lambda}[p'(V_x + \bar{v} + \hat{v})(V_{xx} + \bar{v}_x + \hat{v}_x) - p'(\bar{v})\bar{v}_x - p''(\bar{v})\bar{v}_xV_x - p'(\bar{v})V_{xx}]V_t \\ & = -(1+t)^{-\lambda}\left[(p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v}))V_{xx} + (p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v}) - p''(\bar{v})V_x)\bar{v}_x \right. \\ & \quad \left. + p'(V_x + \bar{v} + \hat{v})\hat{v}_x \right]V_t \\ & \leq C(1+t)^{-\lambda}(|V_x + \hat{v}||V_{xx}| + (|\hat{v}| + |V_x + \hat{v}|^2)|\bar{v}_x| + |\hat{v}_x|)|V_t|, \end{aligned} \tag{3.9}$$

where we have used

$$\begin{aligned} |p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v})| & = O(1)|V_x + \hat{v}| \\ |p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v}) - p''(\bar{v})V_x| & = p''(\bar{v})\hat{v} + O(1)|V_x + \hat{v}|^2. \end{aligned} \tag{3.10}$$

By Gagliardo–Nirenberg’s inequality,

$$\begin{aligned} \|V_x(\cdot, t)\|_{L^\infty} & \leq C\|V_x(\cdot, t)\|_{L^2}^{\frac{1}{2}}\|V_{xx}(\cdot, t)\|_{L^2}^{\frac{1}{2}} \leq CN(t)(1+t)^{\frac{3(\lambda-1)}{4}}, \\ \|V_{xx}(\cdot, t)\|_{L^\infty} & \leq C\|V_{xx}(\cdot, t)\|_{L^2}^{\frac{1}{2}}\|V_{xxx}(\cdot, t)\|_{L^2}^{\frac{1}{2}} \leq CN(t)(1+t)^{\frac{\lambda-5}{4}}. \end{aligned} \tag{3.11}$$

Thus, it follows from (3.9) and the first equality of (2.4) that

$$(1+t)^{-\lambda}|V_t G_x| \leq \frac{1}{8}(1+t)^{-2\lambda}V_t^2 + CN(t)(1+t)^{\frac{\lambda-5}{2}}V_x^2 + C(|\hat{v}| + |\hat{v}_x|). \quad (3.12)$$

In view of (1.10), we get

$$|\hat{v}(x,t)| + |\hat{v}_x(x,t)| \leq C\delta e^{-C(1+t)^{1-\lambda}}(m_0(x) + |m'_0(x)|). \quad (3.13)$$

Now, integrating (3.4) over $\mathbb{R} \times [0, t]$, and noting that by Lemma 2.1 and (3.13),

$$\int_0^t \int [(1+s)^{2\lambda}|\bar{v}_{xt}|^2 + (1+s)^{2\lambda-2}|\bar{v}_x|^2 + |\hat{v}| + |\hat{v}_x|] \leq C\delta^2, \quad (3.14)$$

it follows from (3.5)–(3.12) that

$$\begin{aligned} & \int (1+t)^{-\lambda} (V_t^2 - p'(\bar{v})V_x^2) + \int_0^t \int \left[\frac{5}{4}(1+s)^{-2\lambda} + \lambda(1+s)^{-1-\lambda} \right] V_t^2 \\ & + \int_0^t \int (\lambda|p'(\bar{v})| - C\delta) (1+s)^{-\lambda-1}V_x^2 \\ & \leq CN(t) \int_0^t \int (1+s)^{\frac{\lambda-5}{2}}V_x^2 + C \int (z_0^2 + V_{0x}^2) + C\delta. \end{aligned} \quad (3.15)$$

On the other hand, multiplying (3.1) by $(1+t)^{-2\lambda}V$, we get

$$\begin{aligned} & \left[(1+t)^{-2\lambda}VV_t + \frac{1}{2}(1+t)^{-3\lambda}V^2 + \lambda(1+t)^{-2\lambda-1}V^2 \right]_t - (1+t)^{-2\lambda}V_t^2 \\ & + \left[\lambda(2\lambda+1)(1+t)^{-2\lambda-2} + \frac{3\lambda}{2}(1+t)^{-3\lambda-1} \right] V^2 + (1+t)^{-2\lambda}(-p'(\bar{v}))V_x^2 \\ & = [-(1+t)^{-2\lambda}p'(\bar{v})V_xV + (1+t)^{-\lambda}Vp(\bar{v})_t - (1+t)^{-2\lambda}VG]_x \\ & - (1+t)^{-\lambda}V_xp'(\bar{v})\bar{v}_t + \lambda(1+t)^{-\lambda-1}Vp'(\bar{v})\bar{v}_x + (1+t)^{-2\lambda}V_xG. \end{aligned} \quad (3.16)$$

By Young's inequality,

$$\begin{aligned} (1+t)^{-\lambda}|V_xp'(\bar{v})\bar{v}_t| & \leq \frac{1}{2}(1+t)^{-2\lambda}|p'(\bar{v})|V_x^2 + \frac{1}{2}|p'(\bar{v})|\bar{v}_t^2, \\ \lambda(1+t)^{-\lambda-1}|Vp'(\bar{v})\bar{v}_x| & \leq \frac{\lambda}{2}(1+t)^{-3\lambda-1}V^2 + \frac{\lambda}{2}(1+t)^{\lambda-1}|p'(\bar{v})|^2\bar{v}_x^2. \end{aligned}$$

By Taylor's formula,

$$\begin{aligned} (1+t)^{-2\lambda}|V_xG| & \leq C(1+t)^{-2\lambda}(|\hat{v}| + |V_x + \hat{v}|^2)|V_x| \\ & \leq \left(\frac{1}{4} + CN(t) \right) (1+t)^{-2\lambda}|p'(\bar{v})|V_x^2 + C(1+t)^{-2\lambda}\hat{v}^2. \end{aligned}$$

Hence, integrating (3.16) over $\mathbb{R} \times [0, t]$ gives

$$\begin{aligned} & \int \left[(1+t)^{-2\lambda} V V_t + \frac{1}{2} (1+t)^{-3\lambda} V^2 + \lambda (1+t)^{-2\lambda-1} V^2 \right] - \int_0^t \int (1+s)^{-2\lambda} V_t^2 \\ & + \lambda \int_0^t \int (1+s)^{-3\lambda-1} V^2 + \left(\frac{1}{4} - CN(t) \right) \int_0^t \int (1+s)^{-2\lambda} |p'(\bar{v})| V_x^2 \\ & \leq C \int (z_0^2 + V_0^2) + C\delta. \end{aligned} \tag{3.17}$$

Combining (3.15) with (3.17), and noting that

$$(1+t)^{-\lambda} V_t^2 + (1+t)^{-2\lambda} V V_t + \frac{1}{2} (1+t)^{-3\lambda} V^2 \geq C_0 (1+t)^{-\lambda} V_t^2 + C_1 (1+t)^{-3\lambda} V^2,$$

for some positive constants C_0 and C_1 , and that $-2\lambda > -\lambda - 1 > \frac{\lambda-5}{2}$, it follows that

$$\begin{aligned} & \int [C_0 (1+t)^{-\lambda} V_t^2 + C_1 (1+t)^{-3\lambda} V^2 + (1+t)^{-\lambda} V_x^2] + \lambda \int_0^t \int (1+s)^{-3\lambda-1} V^2 \\ & + \frac{1}{4} \int_0^t \int (1+s)^{-2\lambda} V_t^2 + \left(\frac{1}{4} - CN(t) - C\delta \right) \int_0^t \int (1+s)^{-2\lambda} V_x^2 \\ & \leq C \int (z_0^2 + V_{0x}^2 + V_0^2) + C\delta. \end{aligned} \tag{3.18}$$

Therefore, when $N(T) + \delta \ll 1$, we get the desired estimate (3.3). \square

Lemma 3.2. *If $N(T) + \delta \ll 1$, then it holds that*

$$(1+t)^{1-2\lambda} \|(V_x, V_t)(\cdot, t)\|^2 + \int_0^t (1+s)^{1-3\lambda} \|V_t(\cdot, s)\|^2 ds \leq C (\|V_0\|_1^2 + \|z_0\|^2 + \delta). \tag{3.19}$$

Proof. Multiplying (3.1) by $2(1+t)^{1-2\lambda} V_t$, we get

$$\begin{aligned} & [(1+t)^{1-2\lambda} (V_t^2 - p'(\bar{v}) V_x^2)]_t + [2(1+t)^{1-3\lambda} - (1-2\lambda)(1+t)^{-2\lambda}] V_t^2 \\ & = - [(1-2\lambda)(1+t)^{-2\lambda} p'(\bar{v}) + (1+t)^{1-2\lambda} p''(\bar{v}) \bar{v}_t] V_x^2 - 2((1+t)^{1-2\lambda} p'(\bar{v}) V_x V_t)_x \\ & + 2(1+t)^{1-2\lambda} V_t F - 2(1+t)^{1-2\lambda} V_t G_x. \end{aligned} \tag{3.20}$$

The right hand side of (3.20) can be estimated as follows. Analogous to (3.5), we get

$$(1+t)^{1-2\lambda} |p''(\bar{v}) \bar{v}_t| V_x^2 \leq C\delta (1+t)^{-2\lambda} V_x^2. \tag{3.21}$$

As in (3.6),

$$\begin{aligned} (1+t)^{1-2\lambda} V_t F & = (1+t)^{1-\lambda} p(\bar{v})_{xt} V_t + \lambda (1+t)^{-\lambda} p(\bar{v})_x V_t \\ & \triangleq I_3 + I_4. \end{aligned} \tag{3.22}$$

By Young's inequality and (2.4),

$$\begin{aligned} I_3 &\leq \frac{1}{8}(1+t)^{1-3\lambda}V_t^2 + 2(1+t)^{1+\lambda}(p''(\bar{v})\bar{v}_x\bar{v}_t + p'(\bar{v})\bar{v}_{xt})^2 \\ &\leq \frac{1}{8}(1+t)^{1-3\lambda}V_t^2 + C\delta(1+t)^{\lambda-1}|\bar{v}_x|^2 + C(1+t)^{1+\lambda}|\bar{v}_{xt}|^2. \end{aligned} \quad (3.23)$$

Similarly,

$$I_4 \leq \frac{1}{8}(1+t)^{1-3\lambda}V_t^2 + C(1+t)^{\lambda-1}|\bar{v}_x|^2. \quad (3.24)$$

Analogous to (3.9), by (3.10), we have

$$\begin{aligned} (1+t)^{1-2\lambda}|V_t G_x| &\leq C(1+t)^{1-2\lambda}(|V_x + \hat{v}||V_{xx}| + (|\hat{v}| + |V_x + \hat{v}|^2)|\bar{v}_x| + |\hat{v}_x|)|V_t| \\ &\leq \frac{1}{8}(1+t)^{1-3\lambda}V_t^2 + CN(t)(1+t)^{-\frac{\lambda+3}{2}}V_x^2 + C(|\hat{v}| + |\hat{v}_x|). \end{aligned} \quad (3.25)$$

Now, integrating (3.20) over $\mathbb{R} \times [0, t]$, by (3.21)–(3.25) and Lemma 2.1, we obtain

$$\begin{aligned} &\int (1+t)^{1-2\lambda}(V_t^2 - p'(\bar{v})V_x^2) + \int_0^t \int \left(\frac{5}{4}(1+s)^{1-3\lambda} - (1-2\lambda)(1+s)^{-2\lambda} \right) V_t^2 \\ &\leq C \int_0^t \int (1+s)^{-2\lambda}V_x^2 + CN(t) \int_0^t \int (1+s)^{-\frac{\lambda+3}{2}}V_x^2 + C \int (z_0^2 + V_{0x}^2) + C\delta. \end{aligned}$$

Since $-2\lambda > -\frac{\lambda+3}{2}$, we further get

$$\begin{aligned} &\int (1+t)^{1-2\lambda}(V_t^2 - p'(\bar{v})V_x^2) + \frac{5}{4} \int_0^t \int (1+s)^{1-3\lambda}V_t^2 \\ &\leq C \int_0^t \int (1+s)^{-2\lambda}(V_x^2 + V_t^2) + C \int (z_0^2 + V_{0x}^2) + C\delta. \end{aligned} \quad (3.26)$$

Therefore, owing to Lemma 3.1, we obtain (3.19). \square

Lemma 3.3. *When $N(T) + \delta \ll 1$, it holds that*

$$\begin{aligned} &(1+t)^{2-\lambda}\|(V_{xx}, V_{xt})(\cdot, t)\|^2 + \int_0^t [(1+s)^{1-\lambda}\|V_{xx}(\cdot, s)\|^2 + (1+s)^{2-2\lambda}\|V_{xt}(\cdot, s)\|^2] ds \\ &\leq C(\|V_0\|_2^2 + \|z_0\|_1^2 + \delta). \end{aligned} \quad (3.27)$$

Proof. Differentiating (3.1) in x yields

$$V_{xtt} + \frac{1}{(1+t)^\lambda}V_{xt} + (p'(\bar{v})V_{xx})_x = -(p''(\bar{v})\bar{v}_xV_x)_x + F_x - G_{xx}. \quad (3.28)$$

Multiplying (3.28) by $2(\beta + t)V_{xt}$ with β being a constant to be determined later, and integrating the resultant equation, we have

$$\begin{aligned} & \frac{d}{dt} \int [(\beta + t)(V_{xt}^2 - p'(\bar{v})V_{xx}^2)] + \int \left[\frac{2(\beta + t)}{(1 + t)^\lambda} - 1 \right] V_{xt}^2 \\ &= - \int [p'(\bar{v}) + (\beta + t)p''(\bar{v})\bar{v}_t] V_{xx}^2 + 2(\beta + t) \int V_{xt}F_x \\ & \quad - 2(\beta + t) \int V_{xt}(G_{xx} + (p''(\bar{v})\bar{v}_xV_x)_x). \end{aligned} \tag{3.29}$$

In view of (2.4), we get

$$(\beta + t) \int |p''(\bar{v})\bar{v}_t|V_{xx}^2 \leq C\delta \int V_{xx}^2. \tag{3.30}$$

By Young’s inequality, (2.4) and Lemma 2.1,

$$\begin{aligned} & 2(\beta + t) \int V_{xt}F_x \\ & \leq C(\beta + t) \int [(1 + t)^\lambda(|\bar{v}_t|\bar{v}_x^2 + |\bar{v}_x\bar{v}_{xt}| + |\bar{v}_t\bar{v}_{xx}| + |\bar{v}_{xxt}|) + (1 + t)^{\lambda-1}(\bar{v}_x^2 + |\bar{v}_{xx}|)] |V_{xt}| \\ & \leq \delta(\beta + t)^{1-\lambda} \int V_{xt}^2 + \frac{C}{\delta} \left[(1 + t)^{2\lambda-2} \int \bar{v}_x^2 + (1 + t)^{3\lambda-1} \int \bar{v}_{xx}^2 + (1 + t)^{3\lambda+1} \int \bar{v}_{xxt}^2 \right] \\ & \leq \delta(\beta + t)^{1-\lambda} \int V_{xt}^2 + C\delta(1 + t)^{\frac{3\lambda-5}{2}}. \end{aligned} \tag{3.31}$$

We estimate the last term on the right hand side of (3.29) as follows.

$$\begin{aligned} & - 2(\beta + t) \int V_{xt}(G_{xx} + (p''(\bar{v})\bar{v}_xV_x)_x) \\ &= -2(\beta + t) \int [p'(V_x + \bar{v} + \hat{v})(V_{xx} + \bar{v}_x + \hat{v}_x) - p'(\bar{v})\bar{v}_x - p'(\bar{v})V_{xx}]_x V_{xt} \\ & \triangleq I_5 + I_6, \end{aligned} \tag{3.32}$$

where

$$\begin{aligned} I_5 &= -2(\beta + t) \int [(p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v}))V_{xx}]_x V_{xt} \\ &= \frac{d}{dt} \left[(\beta + t) \int (p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v}))V_{xx}^2 \right] \\ & \quad - \int [p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v}) + (\beta + t)(p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v}))_t] V_{xx}^2, \end{aligned}$$

and

$$\begin{aligned} I_6 &\leq C(\beta + t) \int [|V_{xx}|\bar{v}_x| + (|\bar{v}_{xx}| + |\bar{v}_x|^2)(|\hat{v}| + |V_x|) + |\hat{v}_x| + |\hat{v}_{xx}|] |V_{xt}| \\ &\leq \delta(\beta + t)^{1-\lambda} \int V_{xt}^2 + C\delta \int V_{xx}^2 + C\delta(1 + t)^{-1-\lambda} \int V_x^2 + C\delta(1 + t)^{\frac{3\lambda-5}{2}}. \end{aligned}$$

By Gagliardo–Nirenberg’s inequality,

$$\|V_{xt}(\cdot, t)\|_{L^\infty} \leq C \|V_{xt}(\cdot, t)\|_{L^2}^{\frac{1}{2}} \|V_{xxt}(\cdot, t)\|_{L^2}^{\frac{1}{2}} \leq CN(t)(1+t)^{\frac{3\lambda-7}{4}}.$$

It then follows that

$$\begin{aligned} (\beta+t) \int |(p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v}))_t| V_{xx}^2 &\leq C(\beta+t) \int (|V_{xt}| + |\bar{v}_t| + |\hat{v}_t|) V_{xx}^2 \\ &\leq C(N(t) + \delta) \int V_{xx}^2. \end{aligned} \quad (3.33)$$

Hence, by (3.29)–(3.33), we obtain that

$$\begin{aligned} &\frac{d}{dt} \int [(\beta+t)(V_{xt}^2 - p'(\bar{v})V_{xx}^2 - (p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v}))V_{xx}^2)] \\ &\quad + \int [2(\beta+t)^{1-\lambda} - 1 - 3\delta] V_{xt}^2 \\ &\leq \int (|p'(\bar{v})| + C(N(t) + \delta)) V_{xx}^2 + C\delta(1+t)^{\frac{3\lambda-5}{2}}. \end{aligned} \quad (3.34)$$

Integrating (3.34) over $(0, t)$ gives

$$\begin{aligned} &\int (\beta+t)V_{xt}^2 + \int (\beta+t)[-p'(\bar{v}) - C\delta - CN(t)]V_{xx}^2 + \int_0^t \int [2(\beta+s)^{1-\lambda} - 1 - 3\delta] V_{xt}^2 \\ &\leq \int_0^t \int (|p'(\bar{v})| + C(N(t) + \delta)) V_{xx}^2 + C \int (z_{0x}^2 + V_{0xx}^2) + C\delta. \end{aligned} \quad (3.35)$$

On the other hand, multiplying (3.28) by $(\beta+t)^{1-\lambda}V_x$, and integrating the equation, we get

$$\begin{aligned} &\frac{d}{dt} \int \left[(\beta+t)^{1-\lambda}V_{xt}V_x + \frac{1}{2}(\beta+t)^{1-\lambda}(1+t)^{-\lambda}V_x^2 - \frac{1-\lambda}{2}(\beta+t)^{-\lambda}V_x^2 \right] \\ &\quad - \int (\beta+t)^{1-\lambda}V_{xt}^2 - (\beta+t)^{1-\lambda} \int p'(\bar{v})V_{xx}^2 \\ &= \frac{1}{2}(\lambda(1-\lambda)(\beta+t)^{-1-\lambda} + [(\beta+t)^{1-\lambda}(1+t)^{-\lambda}]_t) \int V_x^2 \\ &\quad + (\beta+t)^{1-\lambda} \int V_x F_x + (\beta+t)^{1-\lambda} \int V_{xx}(G_x + p''(\bar{v})\bar{v}_x V_x). \end{aligned} \quad (3.36)$$

As in (3.31),

$$\begin{aligned} &(\beta+t)^{1-\lambda} \int V_x F_x \\ &\leq \delta(\beta+t)^{-2\lambda} \int V_x^2 + \frac{C}{\delta} \left[(1+t)^{\lambda-1} \int \bar{v}_x^2 + (1+t)^{2\lambda} \int \bar{v}_{xx}^2 + (1+t)^{2+2\lambda} \int \bar{v}_{xxt}^2 \right] \\ &\leq \delta(\beta+t)^{-2\lambda} \int V_x^2 + C\delta(1+t)^{\frac{\lambda-3}{2}}. \end{aligned}$$

As in (3.32),

$$\begin{aligned}
 & (\beta + t)^{1-\lambda} \int V_{xx} (G_x + p''(\bar{v})\bar{v}_x V_x) \\
 &= (\beta + t)^{1-\lambda} \int (p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v}))(V_{xx}^2 + \bar{v}_x V_{xx}) + (\beta + t)^{1-\lambda} \int p'(V_x + \bar{v} + \hat{v})\hat{v}_x V_{xx} \\
 &\leq C(N(t) + \delta)(\beta + t)^{1-\lambda} \int V_{xx}^2 + C\delta(1 + t)^{-2\lambda} \int V_x^2 + C\delta(1 + t)^{\frac{\lambda-3}{2}}.
 \end{aligned}$$

Integrating (3.36) over $(0, t)$, by Lemma 3.1, we get

$$\begin{aligned}
 & \int \left[(\beta + t)^{1-\lambda} V_{xt} V_x + \frac{1}{2}(\beta + t)^{1-2\lambda} V_x^2 \right] - \int_0^t \int (\beta + s)^{1-\lambda} V_{xt}^2 \\
 & \quad + \int_0^t \int (\beta + s)^{1-\lambda} (|p'(\bar{v})| - CN(t) - C\delta) V_{xx}^2 \\
 & \leq C\delta \int_0^t \int (1 + s)^{-2\lambda} V_x^2 + C \int (1 + t)^{-\lambda} V_x^2 + C \int (V_{0x}^2 + z_{0x}^2) + C\delta \\
 & \leq C (\|V_0\|_2^2 + \|z_0\|_1^2 + \delta).
 \end{aligned} \tag{3.37}$$

Adding (3.37) to (3.35) leads to

$$\begin{aligned}
 & \int [C_2(\beta + t)(V_{xt}^2 + V_{xx}^2) + C_3(\beta + t)^{1-2\lambda} V_x^2] + \int_0^t \int [(\beta + s)^{1-\lambda} - 1 - 3\delta] V_{xt}^2 \\
 & \quad + \int_0^t \int [((\beta + s)^{1-\lambda} - 1)|p'(\bar{v})| - CN(t) - C\delta] V_{xx}^2 \\
 & \leq C (\|V_0\|_2^2 + \|z_0\|_1^2 + \delta).
 \end{aligned}$$

Now choosing $\beta = 10^{\frac{1}{1-\lambda}}$, it is easy to see that if $N(T) + \delta \ll 1$, then

$$\begin{aligned}
 & \int [(\beta + t)(V_{xt}^2 + V_{xx}^2) + (\beta + t)^{1-2\lambda} V_x^2] + \int_0^t \int (\beta + s)^{1-\lambda} (V_{xt}^2 + V_{xx}^2) \\
 & \leq C (\|V_0\|_2^2 + \|z_0\|_1^2 + \delta).
 \end{aligned} \tag{3.38}$$

Multiplying (3.34) by $(\beta + t)^{1-\lambda}$, integrating the resultant equation over $(0, t)$, by (3.38), we then have

$$\int (\beta + t)^{2-\lambda} (V_{xt}^2 + V_{xx}^2) + \int_0^t \int (\beta + s)^{2-2\lambda} V_{xt}^2 \leq C (\|V_0\|_2^2 + \|z_0\|_1^2 + \delta).$$

This inequality in combination with (3.38) gives (3.27). \square

Lemma 3.4. *If $N(T) + \delta \ll 1$, then*

$$(1+t)^3 \|(V_{xxx}, V_{xxt})(\cdot, t)\|^2 + \int_0^t [(1+s)^2 \|V_{xxx}(\cdot, s)\|^2 + (1+s)^{3-\lambda} \|V_{xxt}(\cdot, s)\|^2] ds \quad (3.39)$$

$$\leq C(\|V_0\|_3^2 + \|z_0\|_2^2 + \delta).$$

Proof. Differentiating (3.28) in x leads to

$$V_{xxtt} + \frac{1}{(1+t)^\lambda} V_{xxt} + (p'(\bar{v})V_{xxx})_x = F_{xx} - G_{xxx} - H_x, \quad (3.40)$$

where $H = p'''(\bar{v})\bar{v}_x^2 V_x + p''(\bar{v})\bar{v}_{xx} V_x + 2p''(\bar{v})\bar{v}_x V_{xx}$. Multiplying (3.40) by $2(\beta+t)^3 V_{xxt}$ with $\beta = 10^{\frac{1}{1-\lambda}}$, and integrating the resultant equation, we have

$$\begin{aligned} & \frac{d}{dt} \int (\beta+t)^3 (V_{xxt}^2 - p'(\bar{v})V_{xxx}^2) + \int [2(\beta+t)^3/(1+t)^\lambda - 3(\beta+t)^2] V_{xxt}^2 \\ & + \int [3(\beta+t)^2 p'(\bar{v}) + (\beta+t)^3 p''(\bar{v})\bar{v}_t] V_{xxx}^2 = 2(\beta+t)^3 \int V_{xxt}(F_{xx} - G_{xxx} - H_x). \end{aligned} \quad (3.41)$$

As in (3.31), by (2.4) and Lemma 2.1,

$$\begin{aligned} & 2(\beta+t)^3 \int V_{xxt} F_{xx} \\ & \leq \delta(\beta+t)^{3-\lambda} \int V_{xxt}^2 + \frac{C}{\delta} (1+t)^{3+3\lambda} \int (|\bar{v}_t \bar{v}_x^3|^2 + |\bar{v}_{xt} \bar{v}_x^2|^2 + |\bar{v}_t \bar{v}_x \bar{v}_{xx}|^2 + |\bar{v}_{xt} \bar{v}_{xx}|^2 \\ & \quad + |\bar{v}_x \bar{v}_{xxt}|^2 + |\bar{v}_t \bar{v}_{xxx}|^2 + |\bar{v}_{xxx}|^2) + \frac{C}{\delta} (1+t)^{1+3\lambda} \int (\bar{v}_x^6 + |\bar{v}_x \bar{v}_{xx}|^2 + \bar{v}_{xxx}^2) \\ & \leq \delta(\beta+t)^{3-\lambda} \int V_{xxt}^2 + C\delta(1+t)^{\frac{\lambda-3}{2}}. \end{aligned}$$

As in (3.32),

$$-2(\beta+t)^3 \int V_{xxt}(G_{xxx} + H_x) = I_7 + I_8,$$

where

$$\begin{aligned} I_7 &= -2(\beta+t)^3 \int [(p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v})) V_{xxx}]_x V_{xxt} \\ &= \frac{d}{dt} \left[\int (\beta+t)^3 (p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v})) V_{xxx}^2 \right] \\ &\quad - 3(\beta+t)^2 \int (p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v})) V_{xxx}^2 - (\beta+t)^3 \int (p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v}))_t V_{xxx}^2 \\ &\leq \frac{d}{dt} \left[\int (\beta+t)^3 (p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v})) V_{xxx}^2 \right] + C(N(t) + \delta)(\beta+t)^2 \int V_{xxx}^2, \end{aligned}$$

and

$$\begin{aligned}
 I_8 &= O(1)(\beta + t)^3 \int |V_x + \hat{v}|(|\bar{v}_x|^3 + |\bar{v}_x \bar{v}_{xx}| + |\bar{v}_{xxx}|) |V_{xxt}| \\
 &\quad + O(1)(\beta + t)^3 \int \left(|V_{xx}|^3 + |V_{xx}|^2 |\bar{v}_x| + |V_{xx}| |\bar{v}_x|^2 + |V_{xxx}| |V_{xx}| \right. \\
 &\quad \left. + |V_{xxx}| |\bar{v}_x| + |V_{xx}| |\bar{v}_{xx}| + |\hat{v}_x| |V_{xxx}| + |\hat{v}_x| + |\hat{v}_{xx}| + |\hat{v}_{xxx}| \right) |V_{xxt}| \\
 &\leq C(N(t) + \delta)(\beta + t)^{3-\lambda} \int V_{xxt}^2 + C(N(t) + \delta)(\beta + t)^2 \int V_{xxx}^2 \\
 &\quad + C(1 + t)^{1-\lambda} \int V_{xx}^2 + (1 + t)^{-2\lambda} \int V_x^2 + C\delta(1 + t)^{\frac{\lambda-3}{2}}.
 \end{aligned}$$

Now, integrating (3.41) over $(0, t)$, by Lemmas 3.1 and 3.3, we obtain

$$\begin{aligned}
 &\int (\beta + t)^3 (V_{xxt}^2 - p'(\bar{v})V_{xxx}^2) + \int_0^t \int [(2 - C\delta - CN(t))(\beta + s)^{3-\lambda} - 3(\beta + s)^2] V_{xxt}^2 \\
 &\leq \int_0^t \int (3|p'(\bar{v})| + C\delta + CN(t)) (\beta + s)^2 V_{xxx}^2 + C(\|V_0\|_3^2 + \|z_0\|_2^2) + C\delta.
 \end{aligned} \tag{3.42}$$

On the other hand, multiplying (3.40) by $4(\beta + t)^2 V_{xx}$, we get

$$\begin{aligned}
 &\frac{d}{dt} \int \left[4(\beta + t)^2 V_{xx} V_{xxt} + \frac{2(\beta + t)^2}{(1 + t)^\lambda} V_{xx}^2 - 4(\beta + t) V_{xx}^2 \right] \\
 &\quad - 4(\beta + t)^2 \int V_{xxt}^2 + 4(\beta + t)^2 \int (-p'(\bar{v})) V_{xxx}^2 + 4 \int V_{xx}^2 \\
 &= 2 \left[\frac{(\beta + t)^2}{(1 + t)^\lambda} \right]_t \int V_{xx}^2 + 4(\beta + t)^2 \int V_{xx} F_{xx} + 4(\beta + t)^2 \int V_{xxx} (G_{xx} + H).
 \end{aligned} \tag{3.43}$$

By Young’s inequality,

$$\begin{aligned}
 4(\beta + t)^2 \int V_{xx} F_{xx} &= -4(\beta + t)^2 (1 + t)^\lambda \int p(\bar{v})_{xxt} V_{xxx} + \frac{4\lambda(\beta + t)^2}{(1 + t)^{1-\lambda}} \int p(\bar{v})_{xxx} V_{xx} \\
 &\leq C\delta(\beta + t)^2 \int V_{xxx}^2 + C\delta(\beta + t)^{1-\lambda} \int V_{xx}^2 + C\delta(1 + t)^{\frac{\lambda-3}{2}}.
 \end{aligned}$$

Similarly,

$$\begin{aligned}
 &(\beta + t)^2 \int V_{xxx} (G_{xx} + H) \\
 &= (\beta + t)^2 \int \left[(p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v})) (V_{xxx} + \bar{v}_{xx}) + (p''(V_x + \bar{v} + \hat{v}) - p''(\bar{v})) \bar{v}_x^2 \right] V_{xxx} \\
 &\quad + O(1)(\beta + t)^2 \int (V_{xx}^2 + |V_{xx}| |\bar{v}_x| + |\hat{v}_x| (|V_{xx}| + 1) + |\hat{v}_{xx}|) |V_{xxx}| \\
 &\leq C(N(t) + \delta)(\beta + t)^2 \int V_{xxx}^2 + C(1 + t)^{1-\lambda} \int V_{xx}^2 + (1 + t)^{-2\lambda} \int V_x^2 + C\delta(1 + t)^{\frac{\lambda-3}{2}}.
 \end{aligned} \tag{3.44}$$

Hence, integrating (3.43) over $(0, t)$ leads to

$$\begin{aligned}
& \int [4(\beta + t)^2 V_{xx} V_{xxt} + 10(\beta + t)^{2-\lambda} V_{xx}^2] - 4 \int_0^t \int (\beta + s)^2 V_{xxt}^2 \\
& + (4 - CN(t) - C\delta) \int_0^t \int (\beta + s)^2 (-p'(\bar{v})) V_{xxx}^2 \\
& \leq [4(\beta + t) + 8(\beta + t)^{2-\lambda}] \int V_{xx}^2 + C \int_0^t \int (1 + s)^{1-\lambda} V_{xx}^2 \\
& + C \int_0^t \int (1 + s)^{-2\lambda} V_x^2 + C \int (z_{0xx}^2 + V_{0xx}^2) + C\delta.
\end{aligned} \tag{3.45}$$

Therefore, combining (3.42) with (3.45), and noting $\beta = 10^{1/(1-\lambda)}$, the desired estimate (3.39) follows from Lemmas 3.1 and 3.3 provided that $N(T) + \delta \ll 1$. \square

Lemma 3.5. *If $N(T) + \delta \ll 1$, then*

$$\begin{aligned}
& (1 + t)^{3-2\lambda} \|(V_{tt}, V_{xt})(\cdot, t)\|^2 + (1 + t)^{2-3\lambda} \|V_t(\cdot, t)\|^2 \\
& + \int_0^t [(1 + s)^{3-3\lambda} \|V_{tt}(\cdot, s)\|^2 + (1 + s)^{2-2\lambda} \|V_{xt}(\cdot, s)\|^2] ds \\
& \leq C(\|V_0\|_2^2 + \|z_0\|_1^2 + \delta).
\end{aligned} \tag{3.46}$$

Proof. It follows from (3.1) that

$$V_{tt} = -\frac{1}{(1+t)^\lambda} V_t - (p'(\bar{v})V_x)_x + F - G_x.$$

By Lemmas 3.1–3.3, we get

$$\int_0^t \int (1 + s)^{1-\lambda} V_{tt}^2 \leq C(\|V_0\|_2^2 + \|z_0\|_1^2 + \delta). \tag{3.47}$$

Differentiating (3.1) in t yields

$$V_{ttt} + \frac{1}{(1+t)^\lambda} V_{tt} - \frac{\lambda}{(1+t)^{\lambda+1}} V_t + (p'(\bar{v})V_{tx})_x = F_t - G_{xt} - (p''(\bar{v})\bar{v}_t V_x)_x. \tag{3.48}$$

Multiplying (3.48) by $2(1+t)^{2-\lambda} V_{tt}$, and integrating the resultant equation, we have

$$\begin{aligned}
& \frac{d}{dt} \int [(1+t)^{2-\lambda} (V_{tt}^2 - p'(\bar{v})V_{xt}^2) - \lambda(1+t)^{1-2\lambda} V_t^2] + 2(1+t)^{2-2\lambda} \int V_{tt}^2 \\
& = (2-\lambda)(1+t)^{1-\lambda} \int V_{tt}^2 - \lambda(1-2\lambda)(1+t)^{-2\lambda} \int V_t^2 \\
& - \int [(2-\lambda)(1+t)^{1-\lambda} p'(\bar{v}) + (1+t)^{2-\lambda} p''(\bar{v})\bar{v}_t] V_{xt}^2 \\
& + 2(1+t)^{2-\lambda} \int V_{tt} F_t - 2(1+t)^{2-\lambda} \int V_{tt} [G_{xt} + (p''(\bar{v})\bar{v}_t V_x)_x].
\end{aligned} \tag{3.49}$$

Analogous to (3.31),

$$\begin{aligned} & 2(1+t)^{2-\lambda} \int V_{tt} F_t \\ & \leq \delta(1+t)^{2-2\lambda} \int V_{tt}^2 + \frac{C}{\delta} \int [(1+t)^{2\lambda-2} |\bar{v}_x|^2 + (1+t)^{2\lambda} |\bar{v}_{xt}|^2 + C(1+t)^{2+2\lambda} |\bar{v}_{xtt}|^2] \\ & \leq \delta(1+t)^{2-2\lambda} \int V_{tt}^2 + C\delta(1+t)^{\frac{3\lambda-5}{2}}. \end{aligned}$$

Analogous to (3.32),

$$\begin{aligned} & -2(1+t)^{2-\lambda} \int V_{tt} [G_{xt} + (p''(\bar{v})\bar{v}_t V_x)_x] \\ = & \frac{d}{dt} \left[(1+t)^{2-\lambda} \int (p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v})) V_{xt}^2 \right] \\ & - \int \left[(2-\lambda)(1+t)^{1-\lambda} (p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v})) + (1+t)^{2-\lambda} (p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v}))_t \right] V_{xt}^2 \\ & + O(1)(1+t)^{2-\lambda} \int \left[|V_x + \hat{v}|(|\bar{v}_x||\bar{v}_t| + |\bar{v}_{xt}|) + |V_{xx}||\bar{v}_t| + |\hat{v}_t|(|V_{xx}| + 1) + |\hat{v}_x| + |\hat{v}_{xt}| \right] |V_{tt}| \\ \leq & \frac{d}{dt} \left[(1+t)^{2-\lambda} \int (p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v})) V_{xt}^2 \right] + C(N(t) + \delta)(1+t)^{1-\lambda} \int V_{xt}^2 \\ & + \delta(1+t)^{2-2\lambda} \int V_{tt}^2 + C\delta \int V_{xx}^2 + C\delta(1+t)^{-\lambda-1} \int V_x^2 + C\delta(1+t)^{\frac{3\lambda-5}{2}}. \end{aligned}$$

Thus, it follows from (3.49) that

$$\begin{aligned} & \frac{d}{dt} \left[\int (1+t)^{2-\lambda} (V_{tt}^2 - p'(\bar{v})V_{xt}^2) \right] + (2-2\delta)(1+t)^{2-2\lambda} \int V_{tt}^2 \\ & \leq \frac{d}{dt} \left[\lambda \int (1+t)^{1-2\lambda} V_t^2 + (1+t)^{2-\lambda} \int (p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v})) V_{xt}^2 \right] \\ & \quad + (1+t)^{1-\lambda} [(2-\lambda)|p'(\bar{v})| + C\delta + CN(t)] \int V_{xt}^2 + C(1+t)^{1-\lambda} \int V_{tt}^2 \\ & \quad + C \int V_{xx}^2 + C(1+t)^{-2\lambda} \int V_t^2 + C(1+t)^{-\lambda-1} \int V_x^2 + C\delta(1+t)^{\frac{3\lambda-5}{2}}. \end{aligned} \tag{3.50}$$

Integrating (3.50) over $(0, t)$, by (3.47) and Lemmas 3.1–3.3, it is easy to see that, if $N(T) + \delta \ll 1$, then

$$\int (1+t)^{2-\lambda} (V_{tt}^2 + V_{xt}^2) + \int_0^t \int (1+s)^{2-2\lambda} V_{tt}^2 \leq C(\|V_0\|_2^2 + \|z_0\|_1^2 + \delta). \tag{3.51}$$

On the other hand, multiplying (3.48) by $2(1+t)^{1-\lambda} V_t$ and integrating the equation, we get

$$\begin{aligned} & \frac{d}{dt} \int [2(1+t)^{1-\lambda} V_t V_{tt} + (1+t)^{1-2\lambda} V_t^2 - (1-\lambda)(1+t)^{-\lambda} V_t^2] - 2(1+t)^{1-\lambda} \int p'(\bar{v}) V_{xt}^2 \\ = & 2(1+t)^{1-\lambda} \int V_{tt}^2 + (\lambda(1-\lambda)(1+t)^{-1-\lambda} + (1+t)^{-2\lambda}) \int V_t^2 \\ & + 2(1+t)^{1-\lambda} \int V_t F_t + 2(1+t)^{1-\lambda} \int V_{tx} (G_t + p''(\bar{v})\bar{v}_t V_x). \end{aligned} \tag{3.52}$$

By Lemma 2.1, a simple calculation yields

$$\begin{aligned}
 & 2(1+t)^{1-\lambda} \int V_t F_t \leq \delta(1+t)^{-2\lambda} \int V_t^2 + C\delta(1+t)^{\frac{3\lambda-5}{2}}, \\
 & 2(1+t)^{1-\lambda} \int V_{tx}(G_t + p''(\bar{v})\bar{v}_t V_x) \\
 & \leq C(1+t)^{1-\lambda} \int (|V_x + \hat{v}|(|V_{xt}| + |\bar{v}_t|) + |\hat{v}_t|)|V_{xt}| \\
 & \leq C(\delta + N(t))(1+t)^{1-\lambda} \int V_{xt}^2 + C\delta(1+t)^{-1-\lambda} \int V_x^2 + C\delta(1+t)^{\frac{3\lambda-5}{2}}.
 \end{aligned}$$

It then follows from (3.52) that, if $N(T) + \delta \ll 1$, then

$$\begin{aligned}
 & \frac{d}{dt} \int [2(1+t)^{1-\lambda} V_t V_{tt} + (1+t)^{1-2\lambda} V_t^2] + (1+t)^{1-\lambda} \int |p'(\bar{v})| V_{xt}^2 \\
 & \leq \frac{d}{dt} \left[\int (1-\lambda)(1+t)^{-\lambda} V_t^2 \right] + C(1+t)^{1-\lambda} \int V_{tt}^2 + C(1+t)^{-1-\lambda} \int V_x^2 \\
 & \quad + C(1+t)^{-2\lambda} \int V_t^2 + C\delta(1+t)^{\frac{3\lambda-5}{2}}.
 \end{aligned} \tag{3.53}$$

Multiplying (3.53) by $(1+t)^{1-\lambda}$, and integrating the resulting equation over $(0, t)$, noting that

$$\begin{aligned}
 & 2 \int (1+t)^{2-2\lambda} V_t V_{tt} \leq \frac{1}{2} \int (1+t)^{2-3\lambda} V_t^2 + 2 \int (1+t)^{2-\lambda} V_{tt}^2, \\
 & 2 \int_0^t \int (1+s)^{1-2\lambda} V_t V_{tt} \leq \int_0^t \int (1+s)^{-2\lambda} V_t^2 + \int_0^t \int (1+s)^{2-2\lambda} V_{tt}^2,
 \end{aligned}$$

by (3.51) and Lemmas 3.1 and 3.2, we get

$$\int (1+t)^{2-3\lambda} V_t^2 + \int_0^t \int (1+s)^{2-2\lambda} V_{xt}^2 \leq C(\|V_0\|_2^2 + \|z_0\|_1^2 + \delta). \tag{3.54}$$

Finally, multiplying (3.50) by $(1+t)^{1-\lambda}$, and integrating the resulting equation over $(0, t)$, by (3.51), (3.54) and Lemmas 3.1–3.3, we obtain the desired estimate (3.46). \square

Lemma 3.6. *If $N(T) + \delta \ll 1$, then*

$$\begin{aligned}
 & (1+t)^{4-\lambda} \|(V_{xtt}, V_{xxt})(\cdot, t)\|^2 + \int_0^t (1+s)^{4-2\lambda} \|V_{xtt}(\cdot, s)\|^2 ds \\
 & \leq C(\|V_0\|_3^2 + \|z_0\|_2^2 + \delta).
 \end{aligned} \tag{3.55}$$

Proof. Differentiating (3.48) in x gives

$$V_{xttt} + \frac{1}{(1+t)^\lambda} V_{xtt} - \frac{\lambda}{(1+t)^{\lambda+1}} V_{xt} + (p'(\bar{v})V_{txx})_x = F_{xt} - G_{xxt} - J_x, \tag{3.56}$$

where $J = (p''(\bar{v})\bar{v}_t V_x)_x + p''(\bar{v})\bar{v}_x V_{tx}$. Multiplying (3.56) by $2(\beta+t)^{4-\lambda}V_{xtt}$ with $\beta = 10^{\frac{1}{1-\lambda}}$, and integrating the equation, we have

$$\begin{aligned} & \frac{d}{dt} \left[\int (\beta+t)^{4-\lambda} (V_{xtt}^2 - p'(\bar{v})V_{xxt}^2) \right] + \left[\frac{2(\beta+t)^{4-\lambda}}{(1+t)^\lambda} - (4-\lambda)(\beta+t)^{3-\lambda} \right] \int V_{xtt}^2 \\ &= \lambda \frac{d}{dt} \left[\int \frac{(\beta+t)^{4-\lambda}}{(1+t)^{1+\lambda}} V_{xt}^2 \right] - \int [(4-\lambda)(\beta+t)^{3-\lambda}p'(\bar{v}) + (\beta+t)^{4-\lambda}p''(\bar{v})\bar{v}_t] V_{xxt}^2 \\ & \quad - \lambda \left(\frac{(\beta+t)^{4-\lambda}}{(1+t)^{1+\lambda}} \right)_t \int V_{xt}^2 + 2(\beta+t)^{4-\lambda} \int V_{xtt}(F_{xt} - G_{xxt} - J_x). \end{aligned} \tag{3.57}$$

As in (3.31),

$$\begin{aligned} & 2(\beta+t)^{4-\lambda} \int V_{xtt}F_{xt} \\ & \leq \delta \int (\beta+t)^{4-2\lambda}V_{xtt}^2 + \frac{C}{\delta} \int \left[(1+t)^{\lambda-1}|\bar{v}_x|^2 + (1+t)^{1+\lambda}|\bar{v}_{xt}|^2 \right. \\ & \quad \left. + (1+t)^{2\lambda}|\bar{v}_{xx}|^2 + (1+t)^{2+2\lambda}|\bar{v}_{xxt}|^2 + (1+t)^{3+\lambda}|\bar{v}_{xtt}|^2 + (1+t)^{4+2\lambda}|\bar{v}_{xxtt}|^2 \right] \\ & \leq \delta(\beta+t)^{4-2\lambda} \int V_{xtt}^2 + C\delta(1+t)^{\frac{\lambda-3}{2}}. \end{aligned}$$

As in (3.32),

$$\begin{aligned} & -2(\beta+t)^{4-\lambda} \int V_{xtt}(G_{xxt} + J_x) \\ & \leq \frac{d}{dt} \left[(\beta+t)^{4-\lambda} \int (p'(V_x + \bar{v} + \hat{v}) - p'(\bar{v}))V_{xxt}^2 \right] + C(\delta + N(t))(\beta+t)^{4-2\lambda} \int V_{xtt}^2 \\ & \quad + C(\delta + N(t)) \int \left[(1+t)^{3-\lambda}V_{xxt}^2 + (1+t)^2V_{xxx}^2 + (1+t)^{2-2\lambda}V_{xt}^2 + (1+t)^{1-\lambda}V_{xx}^2 \right. \\ & \quad \left. + (1+t)^{-2\lambda}V_x^2 \right] + C\delta(1+t)^{\frac{\lambda-3}{2}}. \end{aligned}$$

Integrating (3.57) over $(0, t)$, by Lemmas 3.1, 3.3–3.5, noting $\beta = 10^{\frac{1}{1-\lambda}}$, it follows that

$$\begin{aligned} & \int (\beta+t)^{4-\lambda}(V_{xtt}^2 - p'(\bar{v})V_{xxt}^2) + \int_0^t \int (\beta+s)^{4-2\lambda}V_{xtt}^2 \\ & \leq C(\delta + N(t)) \int_0^t \int (\beta+s)^{4-2\lambda}V_{xtt}^2 + C(\|V_0\|_3^2 + \|z_0\|_2^2 + \delta). \end{aligned}$$

We thus derive the desired estimate (3.55) provided that $N(T) + \delta \ll 1$. \square

Acknowledgments

J. Li’s work was partially supported by the National Science Foundation of China (No. 11571066), M. Mei’s work was partially supported by NSERC grant RGPIN 354724-2016 and FRQNT grant 192571, K. Zhang’s work was partially supported by the National Science Foundation of China (No. 11371082) and the Fundamental Research Funds for the Central Universities (No. 111065201).

References

- [1] C. Dafermos, A system of hyperbolic conservation laws with frictional damping, *Z. Angew. Math. Phys.* 46 (1995) 294–307.
- [2] S. Deng, Initial–boundary value problem for p -system with damping in half space, *Nonlinear Anal.* 143 (2016) 193–210.
- [3] C.J. van Duyn, L.A. Peletier, A class of similarity solutions of the nonlinear diffusion equation, *Nonlinear Anal.* 1 (1977) 223–233.
- [4] M. Ebert, M. Rempel, Theory of damped wave models with integrable and decaying in time speed of propagation, *J. Hyperbolic Differ. Equ.* 13 (2016) 417–439.
- [5] S. Geng, Z. Wang, Convergence rates to nonlinear diffusion waves for solutions to the system of compressible adiabatic flow through porous media, *Comm. Partial Differential Equations* 36 (2010) 850–872.
- [6] S. Geng, L. Zhang, L^p -convergence rates to nonlinear diffusion waves for quasilinear equations with nonlinear damping, *Z. Angew. Math. Phys.* 66 (2015) 31–50.
- [7] F. Hou, I. Witt, H.C. Yin, On the global existence and blowup of smooth solutions of 3-D compressible Euler equations with time-dependent damping, arXiv:1510.04613, 2015.
- [8] F. Hou, H.C. Yin, On the global existence and blowup of smooth solutions to the multi-dimensional compressible Euler equations with time-dependent damping, arXiv:1606.08935v1, 2016.
- [9] L. Hsiao, T.-P. Liu, Convergence to diffusion waves for solutions of a system of hyperbolic conservation laws with damping, *Comm. Math. Phys.* 259 (1992) 599–605.
- [10] L. Hsiao, T.-P. Liu, Nonlinear diffusive phenomena of nonlinear hyperbolic systems, *Chin. Ann. Math. Ser. B* 14 (1993) 465–480.
- [11] L. Hsiao, T. Luo, Nonlinear diffusion phenomena of solutions for the system of compressible adiabatic flow through porous media, *J. Differential Equations* 125 (1996) 329–365.
- [12] L. Hsiao, R. Pan, Initial boundary value problem for the system of compressible adiabatic flow through porous media, *J. Differential Equations* 159 (1999) 280–305.
- [13] L. Hsiao, S.Q. Tang, Construction and qualitative behavior of the solution of the perturbed Riemann problem for the system of one-dimensional isentropic flow with damping, *J. Differential Equations* 123 (1995) 480–503.
- [14] F.M. Huang, P. Marcati, R.H. Pan, Convergence to Barenblatt solution for the compressible Euler equations with damping and vacuum, *Arch. Ration. Mech. Anal.* 176 (2005) 1–24.
- [15] F.M. Huang, R.H. Pan, Convergence rate for compressible Euler equations with damping and vacuum, *Arch. Ration. Mech. Anal.* 166 (2003) 359–376.
- [16] F.M. Huang, R.H. Pan, Asymptotic behavior of the solutions to the damped compressible Euler equations with vacuum, *J. Differential Equations* 220 (2006) 207–233.
- [17] H.L. Li, K. Saxton, Asymptotic behavior of solutions to quasilinear hyperbolic equations with nonlinear damping, *Quart. Appl. Math.* 61 (2003) 295–313.
- [18] J. Lin, K. Nishihara, J. Zhai, Critical exponent for the semilinear wave equation with time-dependent damping, *Discrete Contin. Dyn. Syst.* 32 (2012) 4307–4320.
- [19] P. Marcati, M. Mei, Convergence to nonlinear diffusion waves for solutions of the initial boundary problem to the hyperbolic conservation laws with damping, *Quart. Appl. Math.* 58 (2000) 763–784.
- [20] P. Marcati, M. Mei, B. Rubino, Optimal convergence rates to diffusion waves for solutions of the hyperbolic conservation laws with damping, *J. Math. Fluid Mech.* 7 (Suppl.) (2005) S224–S240.
- [21] A. Matsumura, Global existence and asymptotics of the solutions of the second-order quasilinear hyperbolic equation with the first-order dissipation, *Publ. RIMS Kyoto Univ.* 13 (1977) 349–379.
- [22] M. Mei, Nonlinear diffusion waves for hyperbolic p -system with nonlinear damping, *J. Differential Equations* 247 (2009) 1275–1296.
- [23] M. Mei, Best asymptotic profile for hyperbolic p -system with damping, *SIAM J. Math. Anal.* 42 (2010) 1–23.
- [24] K. Nishihara, Convergence rates to nonlinear diffusion waves for solutions of system of hyperbolic conservation laws with damping, *J. Differential Equations* 131 (1996) 171–188.
- [25] K. Nishihara, Asymptotic behavior of solutions of quasilinear hyperbolic equations with linear damping, *J. Differential Equations* 137 (1997) 384–396.
- [26] K. Nishihara, Asymptotics toward the diffusion wave for a one-dimensional compressible flow through porous media, *Proc. Roy. Soc. Edinburgh Sect. A* 133 (2003) 177–196.
- [27] K. Nishihara, Critical exponent for the semilinear wave equation with time or space dependent damping, in: *Progress in Partial Differential Equations*, in: Springer Proc. Math. Stat., vol. 44, Springer, Cham, 2013, pp. 239–259.
- [28] K. Nishihara, Y. Wakazuki, Critical exponents for the Cauchy problem to the system of wave equations with time or space dependent damping, *Bull. Inst. Math. Acad. Sin. (N.S.)* 10 (2015) 283–309.
- [29] K. Nishihara, W.K. Wang, T. Yang, L_p -convergence rates to nonlinear diffusion waves for p -system with damping, *J. Differential Equations* 161 (2000) 191–218.
- [30] K. Nishihara, T. Yang, Boundary effect on asymptotic behavior of solutions to the p -system with linear damping, *J. Differential Equations* 156 (1999) 439–458.
- [31] K. Nishihara, J. Zhai, Asymptotic behaviors of solutions for time dependent damped wave equations, *J. Math. Anal. Appl.* 360 (2009) 412–421.
- [32] X.H. Pan, Remarks on 1-D Euler equations with time-decayed damping, arXiv:1510.08115, 2015.
- [33] X.H. Pan, Global existence of solutions to 1-d Euler equations with time-dependent damping, *Nonlinear Anal.* 132 (2016) 327–336.
- [34] X.H. Pan, Blow up of solutions to 1-d Euler equations with time-dependent damping, *J. Math. Anal. Appl.* 442 (2016) 435–445.

- [35] R.H. Pan, K. Zhao, The 3D compressible Euler equations with damping in a bounded domain, *J. Differential Equations* 246 (2009) 581–596.
- [36] T.C. Sideris, B. Thomases, D.H. Wang, Long time behavior of solutions to the 3D compressible Euler equations with damping, *Comm. Partial Differential Equations* 28 (2003) 795–816.
- [37] H. Ueda, A new example of the dissipative wave equations with the total energy decay, *Hiroshima Math. J.* 46 (2016) 187–193.
- [38] W.K. Wang, T. Yang, Pointwise estimates and L_p convergence to diffusion waves for p -system with damping, *J. Differential Equations* 187 (2003) 310–336.
- [39] J. Wirth, Solution representations for a wave equation with weak dissipation, *Math. Methods Appl. Sci.* 27 (2004) 101–124.
- [40] J. Wirth, Wave equations with time-dependent dissipation, I. Non-effective dissipation, *J. Differential Equations* 222 (2006) 487–514.
- [41] J. Wirth, Wave equations with time-dependent dissipation, II. Effective dissipation, *J. Differential Equations* 232 (2007) 74–103.
- [42] C.-J. Xu, T. Yang, Local existence with physical vacuum boundary condition to Euler equations with damping, *J. Differential Equations* 210 (2005) 217–231.
- [43] X.F. Yang, W.K. Wang, The suppressible property of the solution for three-dimensional Euler equations with damping, *Nonlinear Anal. Real World Appl.* 8 (2007) 53–61.
- [44] H.J. Zhao, Asymptotic behavior of solutions of quasilinear hyperbolic equations with linear damping, II, *J. Differential Equations* 167 (2000) 467–494.
- [45] H.J. Zhao, Convergence to strong nonlinear diffusion waves for solutions of p -system with damping, *J. Differential Equations* 174 (2001) 200–236.
- [46] C.J. Zhu, Convergence rates to nonlinear diffusion waves for weak entropy solutions to p -system with damping, *Sci. China Ser. A* 46 (2003) 562–575.
- [47] C.J. Zhu, M.N. Jiang, L^p -decay rates to nonlinear diffusion waves for p -system with nonlinear damping, *Sci. China Ser. A* 49 (2006) 721–739.